Biey

@)= g

<

|

o0

el Ll
SoIve\/Z 2v/2v2 :2\16 QTL{TQ:Q\%
a3
42
Solve \[4/8VT6 = ¢ Y132




56.

P




51 \/3/0.004096

a)4a 104 c)0.04 d) 0.004

‘»J..l

12
2 = 4096




58. What is the value of
&1 AT FT %?

4600 + 540 + 1280 +v250 + 36 ?
\\__6——’
[ a)69 k{ss 70 = )72

5

1296 = 3¢ /__J

576_ Y

L |

j%ozq =68

SSCCGL T2, 17 Feb 2018



59. Which of the following statement(s) is/are true?

Arfaf@a & ¥ Fiq /8 F399 g3 T
I. V625 + Y1296 + V1024 > 90

. Vv/729 + V256 = 5

a)Only | Jr)’OnIy Il c)Bothlandll d) Neither I nor Il

Q8 + 6 + 32 dAo

632 >90 -Faﬁ&L
Q?—G)%’ + Qse)é3 =5

S5 2 4 =5 huwe




¢0. What is the value ofv/29.16 + v/0.2916 + v0.002916 +
@ v/0.00002916 ?

V29.16 +v0.2916 + v0.002916 + v0.00002916 T AT

FIT 19 7
, ]4“" 6=5Y @5.9949 b) 5.9894/ c) 5.9984” 4 5.9994
5.4
+SY
05y
«00SY

$.999 Y4




61. (0.04)~(13) js equal to
(0.04)"15 &I ¢ :

a2 125 c) 60 d) 5
S (4)?
7 (oD
2
a” BN
Y (&




1/0.0032 ”
V032

v0.0032
?
N fra® e ¥

a) 0.0001 b) 0.001 c)0.01

j,oo/g{x-lm\ N
222 X500 10 |

62 . What is the value of

Ja
g

\l
@IP’




l—ve, -9 \W‘%'s. T?;e expression (\/Eives

A natural number
J 2= |.\4|l4 \J-t-V@/ el n integer and not a natural number
rational number but not an integer

@/)UM\ Nt realnumber but not a rational number
z W2)
@‘) 2 = aram m.(ﬁ)@ g

a) T YThfde d&AT .
b)quﬁmqq@ﬁmﬁwaﬁr

2”‘1*" ¢) T IRAT FEAT W qUIF G

Q d) U Fdfas &A1 | IRAT gt

£la

3'8'y

‘\TZ)J% \\_\z—\:\/

|



) 5+V10
64. Whatis = =7 veo

5+v/10
5\/§—2\/ﬁ—\/§+@3 0 e 7 Y /&

a)5 B)5VZ2 2~ ¢)5VE A5
- 5+Jio )

5/6 -“F— “ﬁ+5fz

- 9+4]Jto

equalto ?




5. 9+/x =12 +/147, thenx =
a) 2 szjﬁ%‘7 c)9 d) 5

=2f+1/3
QJr=9

=) fL—"—%




G6. Letx = 327 — / —andy = V451605 +V245 , then the value of x? + y? is:

\/_+\/¢ 5)('40
\/_+\/W+\/ﬁ
’,,O\X?:qﬁx_\/_ \/73?}1' NN g, a@ x2 + y? &1 AT
FIT g2 16x5 2,49 274196
27 —f —_——
=3f2 43 b,J 92t g M9 26
36 17 36 2
 faay 4 MEEME gp o
iy L= 23R 5 +5J5 qJ*--—
A=-)5% 2 5
=52 =ﬁ‘%5‘3
=-)
2

| SSCCGL T2, 13 Sep 2019 | Lo



67. 23/32 - 334 + /500
f)_zﬁ/% b) 3@“@;*"\%%/1 d) 916

_J-a_’l Z-SSXV
e =YY =344 «5ify

S <oy

:ME




¢8. Let ¥/a = ¥26 + /7 + 63 then
I 3a=326+37+3V63 & ar
7 < 729 buk a > 216 b)a < 216

c)a > 729 a="729
ﬁ
—-—+ 7 A+
2 3 2 v

Ya> ar+2-¢ | < 242+ \=9
> O a<1aq




6. IfBW 4W= SW, then the value of x is:
Iy & 4VE = 5V qr x &1 A &

a)4 2 b) 2
c)8 16
| / 5R
=2 |
X=g )
Ty s g™

S\ =™

SSC CHSL 2018



790. If 53*/}@ 12% = 13%/5, then the value of x is:

Iy s \\+123ﬁ=133ﬁ,a’rx$rm%:
a) 2 > //b”{s
c)1 da4
d
2 _
2>=

L=

SSC CHSL 5 Jul 2019 S2



. If 2x+y_ZZ — 882—5—y; 54y—6z _

'x_+3. ~22= 242 -[g—%;t 25Y+2 , 34x-3z — 9X+Z then the value
of 2x + 3y + 5zis:

::-') L -\-ug’ -26 2= —]S' IR 2x+y-2z _ 882—5—y; 54y-6z —
25Y+Z ; 34x;2 = 9**+2qt 2x + 3y +
5z %1 AT §:

\43——62-.- ‘ZU-|-2 2 2) 56 a4
D 2y-82 ‘Z-S ¢) 32 d) 28
_ -2
= y=uz 3 ’ ;{“3 i 5@2-‘3-\3)
=3 F15z=HS

2) Ql:SZ

s

=)2=,D\ \0-\2\1_\,‘“:\1\]

| SSC CHSL 13 Oct 2020 S1 17



72. Simplify (53X 5Xx5%x5x%x5)°>x(5x5x5)°+5=(125)’
(5x5x5%x5%5)5x(5x5x5)5+5=(125)" &I W

a) 15 %13 c) 21 d) 14 ot 2=%

Cgs')gx 5‘3)§ -5 = @3)1

— S&ngw 3

= S
S
3
:) Sq_e—c? =_§-$x'

=) 39=
(3 }/

1
SSC CHSL, 10 June 2022 S1



1
<93+94+95+96+97)E
1
2

73. Find the value of
5 914924934+9%4495

2/n' a2 n% 93+9%+95496+97 :
q W <9l+92+93+94—+95) ﬂ J:ITH- ﬁl
% a)81 Y9 729  d)3

=9

SSC CHSL, 1 June 2022 51 19



Y. If 32=27=81° and abc = 144,
1 1 1).
then the value of 12 (; + 25 + 5) is:
gfg 32 = 270 = 81¢ 3R abc = 144,
1 1 1 .
12(Z+ﬁ+§) T AT &

17 18

) b) 7%

18 33

) 26 10
121 . 1 |
-—__‘__ g
Ql S Tis

= x  \0+IS4R .

| SSC CHSL 6 Mar 2020 S1 jo



T5. Select the number that will come in place of the
guestion mark (?) in the mathematical statement.
(0.064)123 ~0.16%7 x 0.43* x 0.4%% = (0.4)’
fore AT A e REd () F TWET W
FiT-d &I 3T AT §72
(0.064)123 - 0.16%7 x 0.43* x 0.4%° = (0.4)’

fa) 350 b) 320 A338 d) 341

(u 3)"'1, (.ql)‘”x(.u Y (uy

369 9y Y
L x4

369 +34429-54 138 2
1 -y = (4

=) (=338

(!




2 V0.0004x 3/0.000008
T6.If A=
Ax = OTHG02 Xy}YX, 4/16000x 3125000 /810

3/0.729% %/0.0016

50’& Q)%IO )(fh/x [0000 0 B = Toic Ethen]what is A
' xB?  yfi6000 %810

and

V0.0004x 3/0.000008
6 A= X
= 3 I _@ , \/146000>< 3/125000x /810
10 - 2 R B_\/0729(>)<;/600016 2 4 xB
- ~ L ?
&x(0 W) @ ,
_ -9 a)7 x 1077 b) (—) x 1078
= Q0X1qg 7
6 x 108 d) (5) x 107

Ex\0

_\_0—3 \JUTX‘IYE’- Yaxb

SSC CGL T2, 8 August 2022 22



Comparison of surds

(FION3T AT Jelet)




Comparison of surds:

3
1. Incre?;\,s«l:!g Power V25and V8 ¢, s
/-')
2. Decreasing Power iﬁ%’agdé\lﬁ

3. Squaring both sides 6+ V5 and 5+ V11
2.2% 3.3\

2.2 4. Observing pattern Ay A

2 \\\ — Must memorlze

q 000 - V22 14145
3o - V3 =1.732
)\ - V5 =2.236

| | 25



|. Which of the following is greatest?

foeT & |9d 931
a) \/E_'ylz ) \/_yl?__ c) \/?Lyll d) \/-g—’-xlz
22 33 qq 6 6

&Y 64 326




1 1 1 1 1
9 . Find the smaIIest among 212, 318,424,636, 1272 is

(212 318 424 636 127']3? g m‘é oIer:
a) 212 b) 318 c) 424 d) 636

6y, 81, 6y ge/@

1
1272

27



3.The greatest one of V2, /3, 6,/5is
V2,3/3,96,3/5 & & gaX <31
a) V2 %i/? c) V6
Jx6 %6 )
=3 8" 3
Ll / 2?’ 6}: 5

8,()
1w LIV LS
S
U3 3 \Q9

28



Y, The greatest among theonumbers %, 4\/13, 5\/ 16, 10\/41 is :
T ¥ aw T g ¥

“~(2/8 4131316, V4

b) V16 ¢ Va1 ﬂx/ﬁ
@56),41
| 1
8%  |4°
3 v
L > S

29



5. The greatest number among 3°%,4%°, 530 and 15%%is
3%, 4% 537 3x 157 & @ wa@ 9371 Fiaar &7
a)35%0 a0 530 g)1520

2y (356) 135, 225




Z‘SSO 3300 5250 6200 is

6. The greatest among

2‘39973%"', 5376%e ;;%m ST

a) 2550 b) 3300 250 d) 6200
2048, 729 (312S) 129 6




7. Find the smallest among the following

faesT & & T9@ ST Fiaar g7

)1+ 3V2 2 +/10 )34++V5  d)4++3
’ (14m) % 2.16 : (2.1%) (1132)
| +4.242
S.242 5.16 5,236 5,73 2
2.6 _
> \8'00_0 '8 42 5
61 1o “ OR>
] \o
b8l e IR
| @ %

| | 32




HELREN  Sm Mg
49 > (4o) D < n
/1+J\—0 :erg—

\0 S

33
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